THI2E 6R30BH %)

# HEEOH) g AEEOH)
i B * = # = £ @
B A E oA &
5 & 127,184 X HhOFE W 2,256,095
BT AR 9,303,771 E # =2 1,226,614
2R OFE K 404,800 T
= B 8 2,940,588 * H 2 685,886
HE Y e ~26,760 *HhH B B 600,800
{5 4 - BT 3 2 331,688 AR 12,600,000
B OH 1,190,544 K2 -fi2e 10,084,722
B &' # 54,040 BABRSRAS| 72,000 |
= 5 56,240 | mmasas |7 27,526,117
= B & 183,190
m@EESH | 14565285 |& # & &
EHfE AR 53,976,000
EEdE
EREREE aEas 81,502,117
+ #y 25,159,600 & E 0 85
53 ) 30,112,696 # E & @
3 0 R 5% 0 54,131 |[#x&EA
oW B 1383219 | &A% 10,000,000
TEZERS 115451 || #sF%e
TEHEHRU-2) - A ERS 600,000
B E MR 169,726 | zotmoxsss
& 56,994,823 EE®Le
BGE TR E R ~12,602,802
EEMA 148,920 5 ~12,602,802
& & FlEERe A ~12,002,802
Ho&® 2 347,000 | (u#3FizLE) ~426,947
BEETS 6,412,724 | #xaEHLEH -2,002,802
EHMILE 1,030,563
it 7790287 4 | ]
BEeEESSH | 64934030 | smEEast -2,002,802
BE D@ 79,499,315 |Bf®-sEE0 et 79,499,315




